I will do my best to explain what the circuit does.  I will then explain the problems I am having.  If you know of someone who might be of more assistance feel free to pass this along.  I am in desperate need of some help.

Design:

What I am trying to design is a Throttle Position Activated Switch.  As you currently know the TPS on our trucks send a voltage signal to PCM.  The box reads that signal and compares it to set point.  If the input voltage is greater then or equal to the set point the output comes on.  I am trying to get this output to drive a relay for my secondary pump.

10-25-01 Circuit1 

1. Voltage comes in from TPS to Pin 3.  Pin 1 of each chip has square looking hole.

2. Set point comes from 10k potentiometer into Pin 2.

3. If the voltage of Pin 3 is greater then or equal to Pin 2 then the output Pin 7 is opened.  This allows voltage to flow through the resistor to the Output.

4. The voltage of the Output turns on the relay.

11-20-01 Circuit2

1. Voltage comes in from TPS to Pin 3.  Pin 1 of each chip has square looking hole.

2. Set point comes from 10k potentiometer into Pin 2.

3. If the voltage of Pin 3 is greater then or equal to Pin 2 then the output Pin 7 is opened.  This allows voltage to flow through the resistor to the Base of the NPN transistor MJE3055.

4. The transistor allows more of a voltage flow from the Collector the Emitter if the Base has more than 0.7 volts.

5. The voltage from the Emitter Output turns on the relay.

Problems:

Relay needs 12v-14v and 150mA or greater in order to operate.  NTE922 or LM308 do not output enough amps to operate the relay.  Tried to use a transistor but can’t get it to operate properly.  Need the NTE922 or LM308 to operate the transistor in order to output the volts with enough amps to operate the relay.

Notes:

The LM308 is a voltage follower designed to separate the Output On LED from the Output of the NTE922 Pin 7.  If not then the Output On LED pulls too much voltage from Pin 7 and the Output voltage is too low.  Pictures of the circuit are from a program that just lets me draw circuits.  They are not actual representation of what I have built.

1.  Didn’t work, not enough amps to operate relay.

2.  Didn’t work, when 12 volts applied to Collector of transistor, Emitter sends 12 volts out regardless of Base voltage.  Base should control the contact of Collector to Emitter.

